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|Et of Jetl vs. Jet2 (accepted_EB)|

Entries

> 12
)

Jet2/G

T

|diJet phil-phi2 (accepted_EB)|

10 12
x: Jetl/GeV

719

I180
160

140

120

100

80

60

40

20

0

|diJet1 eta-phi (accepted_EB)|

Entries 719

30

y: iPhi ~sector

15

D TUVVEVV

BTOW-East

.........................

.........................

10 Y
] SRR SRS S S
0_| 11 | 111 il |i

0 2 4 6 8

Entries

30

N
¢

y: iPhi2 ~sector

20

15

10

0 5 10 15

25
x: iPhil ~sector

30

719

|diJet2 eta-phi (accepted_EB)|

est Endcap

12

14
x: iEta [-1,+2]

719

Entries

_ 30

o
3]

()

7]
o5
=
o

-

20

15

10

o

BTOW-East

D TUVVEVV

2 4

est| Endcap

12 14
X: iEta [-1,+2]



|diJet Et (accepted EB)| Entries 719
R |Mean  7.435
:[RMS  1.267

— H|gh Etjet
--- Low Et jet

50 60
x: Et (GeV)

|diJet eta (accepted EB) |

Entries

200F
180F
160F
140
120

100—

60—
40

20—

..............................

Mean

RMS

719
11.33
1.693

1:
«Q
>
m
—
D
—

) o

.................................

6 8

|diJet phi (accepted EB)| Entries 719
QO e T Mean 15.36
o i . |IRMS  8.569
35| S I I & e
303— ' = -----------------
- + 1 {—High Etjet
0BT Low Etjet Fis:
f : - . :
1] = ERSOURRURS S 1 O IO SISO N N N S
105 """ I'?"E'D"Jé't'i"E'T"'S"G"F'{'E'E'N"J'é't'é'ET """"""""""
5:— ------------------------------------------------------------------------------------
:I 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1
0 5 10 15 20 25 30

x: iPhi ~sector

10 12 14

x: i Eta[-1,+2]

Entries

80
70
60
50
40
30F
20F

10

Mean
RMS

719
31.24
6.026

30

40 50 60

x: delta zeta (rad*10)




|diJet delZeta vs. etal (accepted_EB)|

Entries

y: delta zeta (rad*10)

Mean x
Mean y

719
11.33
31.24

60

50

40

30

20

10

OIllillliIllilllilllilllilllil

0 2 4 6 8 10 12 14
x: iEtal [-1,+2]

10

I5
0

[diJet eta2 vs. etal (acce

Entries

x: iEta2 [-1,+2]

14

12

15N
O

ted EB
pted_ )|En

Mean x
eany

[ee]

0 2 4 6 8

10 12 14

x: iEtal [-1,+2]

diJet delZeta vs. avrPhi (accepted_EB) |

Entries

y: delta zeta (rad*10)

Mean x
Mean y

719
14.66
31.24

1O 5 10 15 20 25

—10

30
x: (iphil+iphi2)/2 (12 deg/bin)

719
11.33
10.91

Entries

ltotal Et diJet (accepted EB)|

:|Mean

719

21.2

IIIiIIIIiI Il—il—l IIIiIIII

20 30 40 50

x: Et (GeV)

60



|Et of Jetl vs. Jet2 (accepted BB) |
> 12

Jet2/Ge

10

0 2 4 6 8 10 12
x: Jetl/GeV

Entries 2571

|d|Jet1 eta phi (accepted BB)

D TUVVEVV

y: iPhi ~sector

10

0 5 10 15 20 25 30
x: iPhil ~sector

Entries 2571

|d|Jet2 eta phi (accepted BB)

D TUVVEVV

y: iPhi ~sector

st Endcap

10

Entrles 2571

12 14

x: iEta [-1,+2]

12 14
X: iEta [-1,+2]

Entries 2571

50

40

22
20

18
16




|diJet Et (accepted BB) |

—High Etje
“|--- Low Et jet

10

Lol 'r"i"'l"'l"!‘_‘l"*"» ol Bl o o el g Tl el ol

JERS LT SRS T S EE T thy T

Mean 9

:{RMS

Entries 2571

.188
2.33

0 10 20

|diJet phi (accepted BB)|

50 60
x: Et (GeV)

|diJet eta (accepted BB) |

250

200

150

100

50

Entries 2571
Mean 7.073

RMS  3.668

..................................................................
-y -

] i == 1 '

] i 1 i 1 ' -

1 1 1 ' ------

1 1 ---

N — L Y EE LT E Ty R JUpu s

o

2 4 6 8 10 12

14

x: i Eta[-1,+2]

77 R T — T
120

100

80

—|Mean

‘[RMs 8

Entries 2571
15.41

918

60

40

[ RED Jetl ET > GREEN Jet2 ET
Y SRS SR S T

0 5 10 15 20

25 30
x: iPhi ~sector

|diJet delZeta (accepted BB)]

350

300

250

200

150

100

50

......................................................................

Entries 2571
30.61
4.682

Mean

.......................................................................

...................................

...................................

.......................................................................

RMS

30 40 50

X: delta zeta

60
(rad*10)




[diJet delZeta vs. etal (accepted BB)] chries 27 [diJet eta2 vs. etal (accepted BB)] entries 2571

Mean 30.61 eany 6.316

60

50

x: iEta2 [-1,+2]

40

y: delta zeta (rad*10)

0 T | | T | | T | | 111 | 11 | 11 | 111 | 1 O
0 2 4 6 8 10 12 14 0 2 4 6 8 10 12 14
x: iEtal [-1,+2] x: iEtal [-1,+2]

Mean x  14.88
r{Meany 3061 F
----------- 220

diJet delZeta vs. avrPhi (accepted_BB) | Entries 2571 |total Et diJet (accepted_BB)| Entries 2571

:|Mean 24.24

200 +wweeee ------------- R I -------------- -------------
T o oo v S S
T | e
T

y: delta zeta (rad*10)

730 CHNNE SN . D S T —
00E o
e
0 NN WS SR MU W —

R e T

o s et T Y St R

1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O O 1 1 1 1 i 1 1 1 i 1 1 1 1 i 1 1 1 1 —i 1 i | 1 1 1
1O 5 10 15 20 25 30 0 10 20 30 40 50 60
x: (iphil+iphi2)/2 (12 deg/bin) x: Et (GeV)




